REVISIONS

REV DESCRIPTION Drawn | APPR

. . i - } ] . . Sal D.C.
B Added Items 1,12, 96; Deleted Items 45, 50, 55, 90 & Qty Was: 2620-420 (1), 2620-490 (1), 1601-185 (2), & 2620-135 (2); Item 85 Qty Was: 2. | 1/13/08|11/13708

C 1601-221 Bolt Eye 3/8-16 x 6 was 1601-225 Bolt Eye 3/8-16 x 7 7/29/15 DC

ITEM P/N DESCRIPTION QTY
1 1601-810 |  IBP-Aluminum Rd Folding Arm
10 | 1601-309 Elbow Assembly Round
12 | 1601-314 Arm Aluminum Elbow Assy
15 | 1601-221 Bolt Eye 3/8-16 x 6
20 | 1601-121 Cable Steel
25 | 1601-122 Turnbuckle Stainless
30 | 1601-123 Cable Clamp
35 | 1601-124 35 Thimble Eye Bare End
40 | 2620-420 Nut Hex 1/2-13

60 | 2616-441 Screw Self Taping #8 x 3/4 Phil

65 | 2615-188 | Bolt Hex 1/2-13 x 3 1/2 Tapped

et 70 | 2620-320 Nut Center Lock 1/2-13

75 | 1601-126 Nut 8x1.25mm RH Stainless

80 | 1601-127 Nut 8x1.25mm LH Stainless

85 | 2620-030 Washer 1/2" USS

95 | 2600-147 |Spacer Steel .75"0OD x .53ID x .56L

—|=(n|=]=]=] =N =] === =N =] —

3. Manudl (Item 96) Not Shown for Clariy. 96 | 1601-265 Manual Installation Elbow Rd

) PROPRIETARY AND CONFIDENTIAL NAME DATE %
A Ilr;ser‘r ]'A‘()rmwﬁffm'Ter?. ]2)|_'|“T|0 E|b°;{" ASE% w Assy, THE INFORMATION CONTAINED IN THIS DRAVN Sal  07/13/07
(Item 10) with Mounting Holes mating Eloow ASSY. ppawiNG 15 THE SOLE PROPERTY OF CHECKED IPB-Model 1601-310
. Door King. ANY REPRODUCTION IN . A
1 See attached reference sheet for BOM; PART OR AS A WHOLE COMMENTS: Aluminum Round Folding Arm
: WITHOUT THE WRITTEN PERMISSION OF SIZE [DWG. NO. REV.
Notes: Unless Otherwise Specified. Door King IS PROHIBITED. A 1601-810

Scale: None SHEET 1 OF 2




	Sheet1
	Drawing View9
	Detail View A (1 : 3.5)
	Detail View B (1 : 2.25)


